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5XPDK� 6DNLW� �56�� 3(/1, PHUXSDNDQ� UXPDK� VDNLW� UXMXNDQ� XWDPD� GL� ZLOD\DK�
-DNDUWD�%DUDW�\DQJ�PHOD\DQL�SHVHUWD�%DGDQ�3HQ\HOHQJJDUD�-DPLQDQ�6RVLDO��%3-6��
.HVHKDWDQ�VHMDN� WDKXQ�������0D\RULWDV�SDVLHQ�UDZDW� LQDS�GDQ�UDZDW� MDODQ�GL�56�
3(/1, DGDODK SHVHUWD %3-6� .HVHKDWDQ�� .RQVHS� SHPED\DUDQ� %3-6� .HVHKDWDQ�
NHSDGD� UXPDK� VDNLW� PHQJJXQDNDQ� VLVWHP� ,1$� &%*V� �,QGRQHVLDQ� &DVH� %DVH�
*URXSV���\DLWX�WDULI�SDNHW�SHOD\DQDQ�NHVHKDWDQ�\DQJ�PHQFDNXS�VHOXUXK�NRPSRQHQ�
ELD\D� UXPDK� VDNLW�� PXODL� GDUL� SHOD\DQDQ� QRQ�PHGLV� KLQJJD� WLQGDNDQ�PHGLV� 56�
3(/1, SHUOX� PHPSHUWLPEDQJNDQ� SHPDVXNDQ� GDUL� SDVLHQ� UDZDW� LQDS� GHQJDQ�
SHPELD\DDQ�VHODLQ�%3-6�.HVHKDWDQ�� \DLWX�GHQJDQ�PHQLQJNDWNDQ�EHG�RFFXSDWLRQ�
UDWH� �%25� NHODV� SHUDZDWDQ�99,3�� 3HPLOLKDQ� IRNXV� XQWXN�PHQLQJNDWNDQ� %25
NHODV�SHUDZDWDQ�99,3�GLVHEDENDQ�ROHK�VDODK�VDWXQ\D�DJDU�SDVLHQ�%3-6�.HVHKDWDQ�
NHODV� PHQHQJDK� NH� DWDV� GL� 56� 3(/1, \DQJ� DNDQ� GLUDZDW� LQDS� GDSDW� WHWDS�
PHQLNPDWL�IDVLOLWDV�SUHPLXP�GHQJDQ�PHPED\DU�VHOLVLK�GDUL�WDULI�XPXP�GLNXUDQJL�
WDULI� ,1$� &%*V� �FRVW� VKDULQJ��� 'HQJDQ� DGDQ\D� FRVW� VKDULQJ�� GLKDUDSNDQ� DNDQ�
PHQLQJNDWNDQ� FDVKIORZ UXPDK� VDNLW� GDQ� PHQLQJNDWNDQ� MXPODK� SDVLHQ� XQWXN�
PHQJJXQDNDQ�IDVLOLWDV�SUHPLXP�GL�56�3(/1,� 3HQHOLWLDQ WHVLV LQL�EHUWXMXDQ�XQWXN�
PHUXPXVNDQ� 6WUDWHJL� .RPXQLNDVL� 3HPDVDUDQ� %DQJVDO� 99,3� 1HZ� %RXJHQYLOOH�
�1%�99,3��5XPDK�6DNLW�3(/1, WDKXQ������������3HQHUDSDQ�VWUDWHJL�NRPXQLNDVL�
SHPDVDUDQ� \DQJ� WHSDW� ROHK� GLYLVL� SHPDVDUDQ� 56� 3(/1, GLKDUDSNDQ� GDSDW�
PHQLQJNDWNDQ� MXPODK� SDVLHQ� \DQJ� PHPLOLK� EDQJVDO� 1%� 99,3� GDQ� GDSDW�
PHPHQXKL�WDUJHW�%25�PDQDMHPHQ�56�3(/1,� 2OHK�NDUHQD�LWX��WXMXDQ�NRPXQLNDVL�
SHPDVDUDQ \DQJ� GLWHWDSNDQ� DGDODK� XQWXN� PHQLQJNDWNDQ� LQWHQVLWDV� SURPRVL� 1%�
99,3 GDQ�PHPLQLPDOLVLU� DVRVLDVL�56�3(/1, VHEDJDL�56�%3-6� 'HQJDQ�DGDQ\D�
FRVW� VKDULQJ�� GLKDUDSNDQ� DNDQ� PHQLQJNDWNDQ� FDVKIORZ UXPDK� VDNLW� GDQ�
PHQLQJNDWNDQ�MXPODK�SDVLHQ�XQWXN�PHQJJXQDNDQ�IDVLOLWDV�SUHPLXP�GL�56�3(/1,�
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3(/1, +RVSLWDO� �56�� LV� WKH� PDLQ� UHIHUUDO� KRVSLWDO LQ� WKH� :HVW� -DNDUWD� DUHD�
SURYLGLQJ FDUH WR SDUWLFLSDQWV�RI�%3-6 .HVHKDWDQ �+HDOWKFDUH DQG 6RFLDO 6HFXULW\
$JHQF\� VLQFH�������7KH�PDMRULW\�RI�LQSDWLHQWV�DQG�RXWSDWLHQWV�DW�3(/1, +RVSLWDO�
DUH� PHPEHUV RI %3-6 .HVHKDWDQ�� 7KH� SD\PHQW FRQFHSW� RI� %3-6� .HVHKDWDQ WR�
KRVSLWDOV�XVHV�WKH�,1$�&%*V��,QGRQHVLDQ�&DVH�%DVH�*URXSV��V\VWHP��ZKLFK�LV�D�
KHDOWK�VHUYLFH�SDFNDJH�UDWH�WKDW�FRYHUV�DOO�FRPSRQHQWV�RI�KRVSLWDO�FRVWV��IURP�QRQ�
PHGLFDO�VHUYLFHV�WR�PHGLFDO�FDUH��3(/1, +RVSLWDO�QHHGV�WR�FRQVLGHU�LQFRPH�IURP�
KRVSLWDOL]HG� SDWLHQWV� ZLWK� IXQGLQJ� RWKHU� WKDQ� %3-6� .HVHKDWDQ�� QDPHO\� E\�
LQFUHDVLQJ�WKH�EHG�RFFXSDWLRQ�UDWH��%25��RI�99,3�WUHDWPHQW�FODVVHV��7KH�FKRLFH�
RI�IRFXV�WR� LQFUHDVH�WKH�%25�RI�99,3�ZDUG LV�PDLQO\ WR IDFLOLWDWH XSSHU�PLGGOH�
FODVV�%3-6�.HVHKDWDQ SDWLHQWV� DW� 3(/1, +RVSLWDO�ZKR�ZLOO� EH� KRVSLWDOL]HG� FDQ�
VWLOO� HQMR\� SUHPLXP� IDFLOLWLHV� E\� SD\LQJ� WKH� GLIIHUHQFH� IURP� WKH� JHQHUDO� WDULII�
PLQXV�WKH�,1$�&%*V��FRVW�VKDULQJ��WDULII��:LWK�WKH�FRVW�VKDULQJ��LW�LV�H[SHFWHG�WR�
LQFUHDVH� KRVSLWDO� FDVKIORZ� DQG� LQFUHDVH� WKH� QXPEHU� RI� SDWLHQWV� WR� XVH� SUHPLXP�
IDFLOLWLHV� DW� 3(/1, +RVSLWDO�� 7KLV� WKHVLV� UHVHDUFK� DLPV� WR� IRUPXODWH� WKH� 1HZ�
%RXJHQYLOOH�99,3�:DUG�0DUNHWLQJ�&RPPXQLFDWLRQ�6WUDWHJ\��1%�99,3��3(/1,
+RVSLWDO�LQ������������7KH�LPSOHPHQWDWLRQ�RI�WKH�ULJKW�PDUNHWLQJ�FRPPXQLFDWLRQ�
VWUDWHJ\� E\� 3(/1, +RVSLWDO
V� PDUNHWLQJ� GLYLVLRQ� LV� H[SHFWHG� WR� LQFUHDVH� WKH�
QXPEHU�RI�SDWLHQWV�ZKR�FKRRVH�9%,3�1%�ZDUGV�DQG�FDQ�PHHW�WKH�3(/1, +RVSLWDO�
PDQDJHPHQW� %25� WDUJHW�� 7KHUHIRUH�� WKH� SXUSRVH� RI� PDUNHWLQJ� FRPPXQLFDWLRQ�
WKDW� LV� GHWHUPLQHG� LV� WR� LQFUHDVH� WKH� LQWHQVLW\� RI� 1%� 99,3� SURPRWLRQ� DQG�
PLQLPL]H� WKH� DVVRFLDWLRQ� RI� 3(/1, +RVSLWDO� DV� %3-6� +RVSLWDO�� :LWK� WKH� FRVW�
VKDULQJ�� LW� LV� H[SHFWHG� WR� LQFUHDVH�KRVSLWDO� FDVKIORZ�DQG� LQFUHDVH� WKH�QXPEHU�RI�
SDWLHQWV�WR�XVH�SUHPLXP�IDFLOLWLHV�DW�3(/1, +RVSLWDO�
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